ZHIEZ 2007/7/6
F BE SRR

& : FEER - IBERE

1.Ll’%p/J~z§1H%j‘;’F[fji+B?F’§;§pi[ﬁj 7=t A] ﬁl[ﬂ fi J%ﬁ?ﬂ? f%&éﬁ" o F l—%ﬁ?ﬂip UPJRpL- %35
314/ , EJ[JT ‘7“[}7?{7\ F‘J ﬁ:i|k~%p‘ﬁﬁp JJI/J':{-KO

W= @R O R O

2. iﬁir%%ﬁ el TR T G B PR B PRA | — it [%@mﬁﬁ PR
= R *]**ﬁm J B TR BRI %E%{J\gu%m? i
EFEFI VR [1@5
(A= % B)-LY  (CFH (D)1= 37 (E) [+ 7

3@Wﬂ%Wk%ﬂWW§%%ﬁ W[ A S 2 BURLE - T Y
=- fﬁf‘ﬁ‘i%%%’?} (5 o Y R 1) |}|ﬁgﬁlﬁ/ Ppr [ﬁ[rg_‘ .

C
o B
A
w TN PR R R i 2 [ W
(A) «BAC=54° (B) 0 &L AABC F™ Jf FF [E[EH = (C) AB=+3

4. IJ’EIFE‘(TEW [ PRI LA FORLA CET) > T TRRE S WAl -
Fo G P W2l PRI vpljﬁﬁ‘ R

WL @y O )

5. PARUYALY I+ (PRI T o B S T O RIOYRL (R
(A) (B)

(©) (D)

R B A



6. Hl- fl -

lﬁ’?%“ i g iﬁﬁﬂ/}{"*‘? [1‘5!

[a'ﬂdyga I Rt U 3 ﬁxfﬁu qugﬂm/ E,}»;EE rﬁ\wﬁ;ﬁ%ﬂﬂj

(A= £ (B):%w ©735™ (D)
7. e LT BRI (7 B e
(A)3 UIEERLE  (B)S Ui IfL 2
43 (OLFUIISFERLE (D)4 FUffSIRL 1
6 5
8.5~ [ i E- (R BEIHRT R

(A)paz?;,  (B)Z Y (C)+ 3587

S+
<~ AO0B=90°

3
A) = 7zr?
()47T

(D)=

# BAYS G s 5 SI5I0M = 2MB >

 HIFA G
(B) 97z+4 2 (C)

77z+4 2

(D)

97r+5 2

10977 fil - ﬁ%E'J a~ b~ oo REIDT A -

(A) ab-ac+bc+c?
(C) ab+ac-

(B) ab-ac-bc-c¢?
bc+c® (D)ab-ac-bc+c?

o

N
N

c

<
N\

7

R B A



